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RELACAO DO ACO

ACO | N | DIAM [QUANT[CUNIT| C.TOTAL
(mm) (cm) (cm)
CA50 1 6.3 8| VAR VAR
2 6.3 9| VAR VAR
3 6.3 4| 205 820
4 6.3 10 | 200 2000
5 6.3 8 31 248
6 6.3 13| 108 1404
7| 125 5| 557 2785
8| 125 8| VAR VAR
9| 125 9| VAR VAR
10| 125 18 | 222 3996
11| 125 10 | 464 4640
12| 125 10 | 190 1900
13| 125 18 | 238 4284
14| 125 24 | VAR VAR
15| 125 8| VAR VAR
RESUMO DO ACO
AGO | DIAM | C.TOTAL | PESO +0%
(mm) (m) (kg)
CA50 6.3 78.9 19.3
12,5 2423 2335
PESO TOTAL
(kg)
CA50 252.8

Volume de concreto (C-35) = 2.83 m®
Area de forma = 10.50 m?
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FORMATO A2 - INTERNO: 554 x 400 mm.
EXTERNO: 594 x 420 mm.
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